~<& basic education

<M
v ¥ Department:
Q\- }} Basic Education

N REPUBLIC OF SOUTH AFRICA

SENIOR CERTIFICATE EXAMINATIONS/
NATIONAL SENIOR CERTIFICATE EXAMINATIONS

MARKS: 150

TIME: 2 hours

This question paper consists of 13 pages.



Economics/P1 2 DBE/May/June 2024
SC/NSC Confidential

INSTRUCTIONS AND INFORMATION

1. Answer FOUR questions as follows in the ANSWER BOOK:
SECTION A: COMPULSORY
SECTION B:  Answer TWO of the three questions.
SECTION C: Answer ONE of the two questions.

2. Answer only the required number of questions. Answers in excess of the
required number will NOT be marked.

3. Number the answers correctly according to the numbering system used in this
question paper.

4, Write the question number above each answer.

5. Read the questions carefully.

6. Start EACH question on a NEW page.

7. Leave 2-3 lines between subsections of questions.

8. Answer the questions in full sentences and ensure that the format, content
and context of your responses comply with the cognitive requirements of the
questions.

9. Use only black or blue ink.

10. You may use a non-programmable pocket calculator.

11. Write neatly and legibly.
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SECTION A (COMPULSORY)
QUESTION 1 30 MARKS - 20 MINUTES
1.1 Various options are provided as possible answers to the following questions.

Choose the answer and write only the letter (A—D) next to the question
numbers (1.1.1 to 1.1 8) in the ANSWER BOOK, e.g. 1.1.9D

1.1.1 When calculating gross domestic expenditure (GDE), errors and
omissions are accounted for by the ...

A market price.
B  residual item.
C  basic price.
D input cost.

1.1.2 The vertical difference between a trough and the next peak of a
cycle is known as ...

A amplitude.

B extrapolation.

C  moving average.
D length of cycle.

1.1.3 The Minister of Finance presents the Medium-term Budget Policy
Statement (MTBPS) in ... every year.

A February
B June

C April

D  October

1.1.4 The difference between tangible exports and tangible imports is
called ...

A  trade balance.
B current transfer.
C reserve assets.
D trade deficit.

The worldwide interfacing and interaction of economies, with trade
as an important element, is called ...

A nationalisation.
B  centralisation.
C globalisation.
D devaluation.
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The form of tax that is levied annually on the market value of
residential, office and factory buildings is called ...

A
B
C
D

capital gain tax.
property tax.
transfer duty.
estate duty.

A geographically designated area that has been set aside to
develop specific economic activities is known as a/an ...

A
B
C
D

industrial base.

export processing zone.
industrial hub.

special economic zone.

The human development index (HDI) of a country with the highest
leve! of development is ...

A
B
C
D

10
0
1

100 (8x2)

(16
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1.2

Choose a description from COLUMN B that matches the item in COLUMN A.
Write only the letter (A—I) next to the question numbers (1.2.1 to 1.2.8) in the
ANSWER BOOK, e.g. 1.2.9 J.

5
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COLUMN A COLUMN B
1.2.1 Real flow A when a person is required to give an
explanation of his or her decisions or
1.2.2 Deregulation actions
1.2.3  Accountability B used by the United Nations to compare
the standards of living among different
1.2.4  Specialisation countries
1.2.5 Trade neutrality C legal ownership of copyright, design,
patent or trademark by an individual or
1.26 Human development business
index
D number of years that a new-born infant
1.2.7 Intellectual property is likely to live
1.2.8 Life expectancy £ the movement of factors of production,
goods and services among economic
participants
F  payment of subsidies that are equal to
import duties paid by export producers
G the removal of laws and other forms of
government control that interfere in the
functioning of markets
H production of goods and services in

large quantities

focuses on the production/provision of a
particular type of good or service

B x 1)

(8)
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Give ONE term for each of the following descriptions. Write only the term next
to the question numbers (1.3.1 to 1.3.6) in the ANSWER BOOK.
Abbreviations, acronyms and examples will NOT be accepted.

1.3.1 Occurs when the value of intermediate products is added to the
final product when calculating GDP

1.3.2 When all the people who are actively looking for work are able to
find jobs or create jobs for themseives

1.3.3 The price of one currency in terms of another

1.3.4 Measures that artificially restrict the movement of goods and
services among countries

1.3.5 When the central bank convinces commercial banks to act in a
manner that is desirable to the prevailing economic conditions

1.3.6 The total industrial capacity of an economy that is available for use
(6x1) (6)

TOTAL SECTION A: 30
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SECTIONB

Answer any TWO of the three questions in this section in the ANSWER BOOK.

QUESTION 2: MACROECONOMICS 40 MARKS - 30 MINUTES
241 Answer the following questions.
211 Name the TWO factors that determine the size of the multiplier in a
two-sector model. (2x1) (2)

21.2 How can the South African Reserve Bank (SARB) use open-

market transactions to increase money supply? (1x2) (2)
2.2 Study the graph below and answer the questions that follow.
REAL FINAL CONSUMPTION EXPENDITURE BY HOUSEHOLDS
6 FOR SOUTH AFRICA
5
Durable goods
4 Semi-durable goods
3 Non-durable goods
2
1
0
-1
-2 Q4, 2021 Q1, 2022 Q2, 2022 Q3, 2022
[Adapted from SARB Quarterly Bulletin, December 2022]
221 Identify the category of consumer goods that recorded growth in
the third quarter of 2022 (Q3, 2022). (1)
2.2.2 Give ONE example of non-durable goods. (1)
2.2.3 Briefly describe the term consumption. (2)
224 Why are savings regarded as leakages in the circular-flow model? (2)
225 How can an increase in interest rates influence households in the

circular flow? (2x2) (4



Economics/P1 8 DBE/May/June 2024

2.3

2.4

25
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Study the extract below and answer the guestions that follow.

THE PRIVATISATION AND RESTRUCTURING PROGRAMME
IN SOUTH AFRICA

The South African approach to privatisation has been one of restructuring of
state-owned enterprises (SOEs). The goals of restructuring have been to
reduce government borrowing requirements and to extend private ownership
to historically disadvantaged groups.

However, little has been achieved as restructuring efforts have been slow and
reluctant.

[Source: www.investopidia.com] |

2.3.1 Identify a term that refers to parastatals.
2.3.2 Give ONE feature of public sector failure.
233 Briefly describe the term nationalisation.

234 Why is it important for the government to remain in control of key
input sectors such as energy and transport?

2.35 How can the South African government benefit from the
privatisation of state-owned enterprises (SOEs)? (2x2)
Discuss the role of households in the circular-flow model. {4 x2)

Analyse the factors that may cause a deficit on South Africa’s balance of
payments {(BOP). (4 x2)

(1)
(1)
(2)

(2)

(4)
(8)

(8)
[40]
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QUESTION 3: ECONOMIC PURSUITS 40 MARKS - 30 MINUTES
3.1 Answer the following questions.
3.1.1 Name any TWO redress policies in South Africa. (2x1)
3.1.2 How can import substitution promote industrialisation? (1x2)
3.2 Study the extract below and answer the questions that foliow.

EFFECTS OF DUMPING

Dumping involves substantial export volumes of products and it often
endangers the financial viability of manufacturers or producers in importing
countries.

The biggest disadvantage of dumping is the ability to flood a market with
product prices that are often considered unfair. Therefore, countries use tariffs
and quotas to protect their domestic producers from dumping.

{Adapted from https.//www.investopedia,com|

3.2.1 Identify a form of tax imposed on imports in the extract above.

3.2.2 Name the international trade policy that protects local producers
from unfair foreign competition.

3.2.3 Briefly describe the term import quota.

3.24 Explain the role of the World Trade Organisation (WTO) in
promoting free trade.

3.2.5 How can dumping impact on consumers in the importing country?
(2x2)

(2)
(2)

(1)

(1)
(2)

(4)
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Study the map below and answer the questions that follow.

e - ( -
L~
A
B
»
[Source: www.google.com]

3.3.1 Identify the letter that represents developed countries in the map
above. (1)
3.3.2 Name ONE aspect (element) related to the standards of living. (1)
3.3.3 Briefly describe the concept North-South divide. (2)

3.34 How can economic activities in the north impact on the
environment? (2)

3.3.5 Explain the challenges faced by developing countries when trading
with developed countries. (2x2) 4)

3.4 Discuss industrial development zones (IDZ) as South Africa's initiative in
regional development. 4x2) (8)

3.5 Analyse the reasons why South African consumers prefer imported goods
and services. 4x2) (8)

[40]
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4.2
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MACROECONOMIC AND ECONOMIC PURSUITS

40 MARKS - 30 MINUTES

Answer the following questions.

4.1.1

4.1.2

Name any TWO financial incentives used by the South African
government to improve industrial development. (2x1)

Why does the government strive to keep public debt to at least
60% of gross domestic product (GDP)? (1x2)

Study the table below and answer the questions that foliow.

USD/ZAR ANNUAL HISTORICAL EXCHANGE RATES

4.21

422
423

4.2.4

4.25

[Source: ofx.com|

Identify, in the table above, the year in which the value of the rand
was the strongest.

Name the exchange rate system used in South Africa.
Briefly describe the term depreciation in relation to exchange rates.

How can the government directly intervene in the foreign exchange
market when the local currency is undervalued?

Draw a correctly labelled graph to show the effect of an increase in
demand for US dollars in South Africa.

(2)

(2)

4)
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4.3

44

45
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Study the information below and answer the questions that follow.

THE FOUR INDUSTRIAL REVOLUTIONS

The focus of industrial development has evolved over the past centuries.

A B C D
B =0
° PN Y .
1765 1870 41965 Today
MASS AUTOMATED NEW
MECHANISATION PRODUCTION PRODUCTION TECHNOLOGIES

[Adapted from www.google.com/industrialevolution]

4.3.1 Identify the picture, using the letters above, that represents the
fourth industrial revolution.

432 Name the government department that is responsible for promoting
industrial development in South Africa.

4.3.3 Briefly describe the term manufacturing.

434 Explain the influence of skills shortages on industrial development.

435 How can the National Research and Development Strategy
(NRDS) help to improve the South African economy? (2 x2)

Discuss the necessity of the public sector in the economy. (4 x 2)

How does the South African government use fiscal policy to improve the
standard of living? (4 x2)

TOTAL SECTION B:

(1)

(1
(2)
(2)

(4)
(8)
(8)
[40]
80
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SECTIONC
Answer any ONE of the two questions in this section in the ANSWER BOOK.

Your answer will be assessed as follows:

MARK
STRUCTURE OF ESSAY ALLOCATION

Introduction
The introduction is a lower-order response: Max. 2
* Agood starting point will be to define the main concept related to the
guestion topic.
DO NOT include any part of the question in your introduction.
DO NOT repeat any part of the introduction in the body.
* Avoid mentioning in the introduction what you are going to discuss in
the body.

Body
Main part: Discuss in detail/ln-depth discussion/Examine/Critically Max. 26
discusslAnaIyse/ComparelEvaIuate/Distinguisthifferentiate/Eprain!
Assess/Debate

A maximum of 8 marks may be allocated for headings/examples.

Additional part: Critically discuss/Evaluate/Critically evaluate/Deduce/ Max. 10
Compare/Distinguish/Suggest/Interpret/Debate/How
A maximum of 2 marks may be allocated for mere listing of facts.

Conclusion
Any higher-order conclusion should include: Max. 2
* A brief summary of what has been discussed without repeating facts
already mentioned

Any opinion or valued judgement on the facts discussed

Additional support information to strengthen the discussion/analysis

+ A contradictory viewpoint with motivation, if required

¢ Recommendations

TOTAL 40
QUESTION 5: MACROECONOMICS 40 MARKS 40 MINUTES

» Discuss in detail the new economic paradigm in smoothing out business cycles.

¢ How can an increase in economic activity impact on businesses?

QUESTION 6: ECONOMIC PURSUITS 40 MARKS - 40 MINUTES
s Discuss in dextail the various economic indicators.

» How can social indicators assist the government in improving decision-making?

TOTAL SECTION C:
GRAND TOTAL.:

(26)

(10)
[40]

(26)

(10)
[40]

40
150
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SECTION A (COMPULSORY)
QUESTION 1
11  MULTIPLE-CHOICE QUESTIONS

B - residual item vV’

A - amplitude v'v/

D - October v'v/

A - trade balance vV’

C - globalisation v'v

B - property tax v'v’

D - special economic zone v'v’

C-1vY (8x2) (16)

1.2 MATCHING ITEMS

PG T G W S W
oNDURLND =

121 E- the movement of factors of production, goods and services
between economic participants v _
1.2.2 G- the removal of laws.and ether forms »_gﬁ_é;::government control

 of markets v

that interfere in thefunc f markets
give an explanation of his or

1.2.3 A- when a person is require
her degisions or actions ¥
1.24 |- focuses on the production/p
good or service v iic _
1.25 F- payment of subsidies that are equal to import duties paid by
export producers v’
1.2:.6 B- used by the United Nations to compare the standards of
living between different countries v
1.2.7 C- legal ownership of copyright, design, patent or trade mark by
an individual or business v’
128 D- number of years that a new-born infant is likely to live v/
8x1) (8

sion of a particular type of

1.3 GIVE THE TERM

Double counting v

1.3

1.3.2 Full employment v’

1.33 Exchange rate v/

1.34 Trade barriers v/

1.3.5 Moral suasion/persuasiony’

1.3.6 Industrial/economic!manufacturinglproduction base v 6x1) (6)

TOTAL SECTION A: 30
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SECTION B

SC/NSC (Braille) — Marking Guidelines

Answer any TWO of the three questions in this section in the ANSWER BOOK.

QUESTION 2: MACROECONOMICS ‘ 40 MARKS - 30 MINUTES

2.1 SHORT QUESTIONS

2.1.1

2.1:2

Name the TWO factors that determine the size of the multiplier in
a two-sector model.

e Marginal propensity to consume / MPC v/
¢ Marginal propensity to save / MPS v/ (2x1)

How can the South African Reserve Bank (SARB) use open market
transactions to increase money supply?

Buy government securities/bonds from banks, thereby injecting more
money into the banking system which will increase money supply. v'v’
(Accept any other correct relevant response) (1x2)

2.2 DATA RESPONSE

2.2.1

222

223

224

Copyright reserved

Identify the category of consumer goods that recorded growth in
the third quarter of 2022 (Q3,2022).

Durable goods v
Give ONE example of non-durable goods.

Food v

Beverages v/

Fuel v _
(Accept any other correct relevant response)

Briefly describe the term consumption.

Use of final goods and services to satisfy human needs / The act of
using of resources to satisfy current needs and wants v'v*
(Accept any other correct relevant response)

Why are savings regarded as leakages in the circular flow model?

Savings flow from households to the banking system which reduces the
amount of money in circulation / Savings reduce the flow of money that
could be spend on goods and services v'v’

(Accept any other correct relevant response)

DEPARTMENT OF BASIC
EDUCATION

PRIVATE BAG X395, PRETORIA 0007
. ry 202 (-0

NP/PPN/TES -
APPROVED MARKING GUIDELINE
PUBLIC EXAMINATION

Please turn over
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225 Howcan an increase in interest rates influence households on
the circular flow?

* Households will borrow less money from financial institutions due to
higher interest rates. v'v -

e Consumers will buy fewer goods and services as credit becomes
more expensive.v'v’

* Households will receive more returns on savings that have flexible
interest rates, v'v’

(Accept any other correct relevant response) 2x2) (4
23 DATA RESPONSE

2.3.1  Identify a term that refers to parastatals.
* State-owned enterprises (SOEs) v (1)
23.2 Give ONE feature of public sector failure,

¢ Ineffectiveness v/
e Inefficiency v (1)

2.3.3 Briefly describe the term nationalisation.

Transfer of functions and ownership of entities from the private sector

to the public sector. / When the government takes ownership and
control of an existing enterprise in the private sector. v'v'

(Accept any other correct relevant response) (2)

2.34 Why is it important for the government to remain in control of the
key input sectors such as energy and transport?

* The government will be strategically positioned to control the cost of
key inputs to production such as electricity and transport, which will
minimise the cost of doing business in the economy, v'v’

* To promote price stability and allow all households to afford goods
and services v'v’

* To promote infrastructure development which may be overlooked by
private entities v'v/ '
(Accept any other correct relevant response) (2)

235 How can the South African government benefit from the
privatisation of state-owned enterprises (SOEs)?

NOILYNIWYX3 DIsSnd

ANIT3QIND ONINUYW Q3A0NddY

* The government can raise income (foreign exchange) from the
sales of public entities to the private sector. v'v'

e The tax base will expand and the government will raise more tax
revenue to spend on economic projects such infrastructure
development, v'v'

e The government will have less .administrative burden on the
operations of parastatals, v'v'

* Privatisation may reduce the fiscal pressure in terms financial bail-
outs on loss-making parastatals. v'v’
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* The government can use privatisation to promote developmental
objectives through black economic empowerment v'v°
(Accept any other correct relevant response) (2x2)

2.4 Discuss the role of households in the circular flow model.

* Households own the factors of production such as natural resources, labour,

capital and entrepreneurship. v'v’

They sell factors of production to businesses for the production goods and
services. v'v’

Households buy goods and services with the income that they receive from
their factors of production. v'v

They save part of their income with financial institutions which ensures the
availability of loanable funds. v'v’

They pay direct taxes such as personal income tax to the government from
the income that they earn. v'v

Consumers pay indirect taxes such as VAT and excise duties when they buy
goods and services, v'v’

Households may invest their income by purchasing assets such as shares
and properties to accumulate wealth, v'v’

They borrow funds from financial institutions to buy goods and services
which stimulates aggregate demand. vv'

(Accept any other correct relevant response)

(Allocate a maximum of 4 marks for mere listing of facts) (4 x 2)

Analyse the factors that May cause a deficit on South Africa’s balance of
payments (BoP)

25
l
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Decrease in domestic production may result in less goods and services
being exported, creating a deficit in the current account. v'v

Low economic growth in South Africa’s trading partners such as USA and
China may reduce demand for South African exports which will lead to a
decrease in the value of exports. v'v'

Decrease in supply of goods and services on local markets may increase
imports which will increase deficit in the current account,v'v'

Decrease in export prices and an increase in import prices may lead to less
export earnings and higher import payments, v'v’

Removal of import restrictions such as tariffs and quotas may increase the
amount of imports thereby increasing deficit in the current account. v'v'
Shortage of capital goods, such as machinery and equipment, in the
domestic economy may result in more imports of such goods. v'v*
Unfavourable climatic conditions such as drought may decrease domestic
production contributing to less exports and more imports. v'v’

Appreciation of the rand may increase imports as they become relatively
cheaper and/or reduce exports as they become relatively more
expensive.v'v’

Depreciation of the rand may increase import payments increasing deficit in
the current account. vv°

(Accept any other correct relevant response)
(Allocate a maximum of 2 marks for mere listing of facts) (4x2)

(4)

@)

(8)
[40]



I | iCS. com |
[ Economjcs/py morephy SICS. 6 DBEMay 2024
| "IDommIoaded from Stan SCNSC (Braille) - Marking Guideljnes e

QUESTION 3: ECONomic PURSUITS - 40 MARKs _ 30 MINUTES
3.1 SHORT QUESTIONS

| I 3.1.1 Name apy, TWo redress policjes in South Africa,

®* Broad Based Black Economic Empowennent (BBBEE ) v
[ ° Employment Equity Act (EEA) / Affirmative action v’
L] : ®* Land redistribution
®* land restitution
(Accept any other Correct re res (2x1) (2

g0ods ang Services
local industrieg /
| ! : ces may €ncourage
i i tries or S| €Xisting industn'es 44
[ (A othe tresponse) (1x2)
(2)

(] 32 pata RESPONSE

3.2.1 ld'e'ntify“E 'fo‘ini"ﬁf‘tax imposeq on imports, in the exfract above,
Tariffs v (1)

| 3.2.2 Name the international trade Policy that Protects Jocg) Producers
' ition,

from unfajr foreign Compet;
Protectionigm | _ (1)

(Accept any other Correct relevang response) (2)

3.24 Explain the role of the World Trade Organisation (WTO) in
promoting free trade,

The WTo acts as a forym, for Multilaterg) trade Negotiations v,
Administers and implements Multilaterg) trade agreements v~

Reso!ves trade disputes and Supervise the reviewing of nationa|
frade Policies v
CCept any other Correct relevant response) (2
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3.25 How can dumping impact on consumers in the importing
country?

* [nthe short-term, consumers in the importing country will pay lower
prices for goods and services. v'v’

» Consumers’ income will afford more goods and services which will
improve their welfare, v'v*

* In the long-term, consumers in importing countries may pay higher
prices on goods and services as competition decreases.v'v’

e Consumers’ choice will be limited as some local businesses will be
driven-out of the market by cheap foreign products. v'v*

e Consumers may find it difficult to adjust to local products when the
cheaper imports are withdrawn from the economy. v'v'
(Accept any other correct relevant response) (2x2)

3.3 DATA RESPONSE

3.3.1  Identify a letter that represents developed countries in the map
above.

AY
3.32 Name ONE aspect (element) related to the standards of living.

e Per capita income v
» Life expectancy v .
e Education v _
(Accept any other correct relevant response)

3.3.3  Briefly describe the concept North/South divide

The socio-economic and political division between the developed
countries in.the northern hemisphere and the developing countries in
the southern hemisphere. v'v

{Accept any other correct relevant response)

3.3.4 How can economic activities in the North impact on the
environment?

» Countries in the North practise mass production which involves the
burning of fossil fuels, resulting in the emission of greenhouse
gases that cause ozone depletion and climate change. v'v’

¢ Production of goods in large quantities may result in
overexploitation of natural resources. v'v'

(Accept any other correct relevant response)

Copyright reserved NP/PPN/TES
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3.35 Explain the challenges faceq b
trading with developed countries.
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Discuss ind ustrial development Zones (IDZ) as South Africa’s initiative in
regional development

restrictions v'v

The imported inputs are used inthe manufacturing Process with the intention
of exporting the finished goods v+

DZs were aimed to; -
attract new investments in €xport-driven industries v

encourage economic growth by attracting foreign investments in industrial
development to boost export of valued added Products v'v

enhance international Competitiveness of local industries and thereby
expanding local markets v'v/

Create job Opportunities and expand the skills base in the country v'v/

pPromote the exploitation of resource intensive industries ang thereby
boosting industrialisation vV

pPromote and develop links between domestic ang Zone-based industries. v v

(Accept any other correct relevant response)
(Allocate a Mmaximum of 4 marks for mere listing of facts!examples)

Please turn over

y devaloping countries when
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Analyse the reasons why South African consumers prefer imported
goods and services.

South African consumers prefer importing goods and services because: -

the removal of trade restriction through free trade agreements reduces the
cost of importing goods and services vv

some countries such as China and Kuwait have comparative advantage in
the production of certain goods which makes imports cheaper than locally
produced goods v'v’

some local consumers enjoy shopping exclusively because of brand loyalty,
increase in income and due to different tastes and preferences v'v/
imported goods and services may be of better quality than locally produced
products, especially in the case of textiles v'v’ :

online shopping platforms such as Shein make it more convenient for South
African consumers to buy products from other countries v'v/

certain goods and services may be available on local markets in limited
quantities v'v’ '

importing goods and services from different countries provides more choices
to consumers v'v'

(Accept any other correct releva nt response)

(Allocate a maximum of 2 marks for mere listing of facts) (4 x2)

Copyright reserved NP/PPN/TES Please turn over
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QUESTION 4 MACROECONOMICS AND ECONOMIC PURSU]TS -
40 MARKS — 30 MINUTES

SHORT QUESTIONS

Name any TWO financial incentives used by the South African
government to improve industriaj devalopmont.

* Small Businesses Support Program v

* SEDA Technology Program / sTP v

® Skills Support Program /8sp

® Critical Infrastructyre Programme /CIP v
* Custom-free Incentives v

®
]
L ]

Foreign Investment Incentives v
Strategic Investment Program / gip
Services to Businesses Processes v

Why does the government strive to keep publje debt to at least
60% of gross domestic product (GDP)?

* Reduce the burden on the taxpayer as the repayment on interest
and loan comes from tax revenue
* Limiting public debt will mean that more money would pe allocateq

DATA RESPONSE

Identify, in the tabje above, the year in which the value of the
rand was the strongest.

2018 v
Name the exchange rate System used in South Africa

Free floating exchange rate system v

The centra| bank can sejf foreign currency in the market to increase
Supply thereby reducing the exchange rate ang the loca| currency will
appreciate, vv

(Accept any other correct relevant response)

NP/PPN/TES
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(2)

(1)

(1)
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425 Draw a correctly labelled graph to show the effect of an increase
in demand for US dollars in South Africa.

i
ks D
S | D S
©
@
L
o
P4 --t """""" S
P __________________
v
i
= D
S b D
o [}
9 __ Q Qi Quantity of dollars v
ALLOCATION OF MARKS:
Correct labelling of axis =1 mark
Correct drawing and la belling
of the original curves =1 mark
Correct shifting of demand curve = 1 marks
Correct labelling on axis = 1 mark
Max. 4 marks
(4)

4.3 DATA RESPONSE

4.3.1  Identify the picture, using the letters above, that represents the
fourth industrial revolution.

Dv (1)

432 Name the government department that is responsible for
promoting industrial development in South Africa.

Department of Trade, Industry and Competition / DTIC v (1)
4.3.3  Briefly describe the term manufacturing.
The process of converting raw materials or natural resources into

semi-finished and finished products. v'v’
(Accept any other correct relevant response) 2)

DRPARTVGNT OF BASIS
EDUCATION f
PRIVATE BAG X398, PRETORIA 0007 |
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APPROVED MARKING GUIDELINE
PUBLIC EXAMINATION
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4.34 Explain the influence of skilis shortages on industrial

development.

recruit highly skilled personnel. v'v

* Potential investments in different industries may be discouraged by
low labour productivity, vv

* It may lead to increased Operational costs as industries may have
to spend more on skills development v'v
(Accept any other correct relevant response)

435 How can the Nationa| Research ang Development Strategy

(NRDS) help to improve the South African economy?

2 E ; %’ ] * The NRDS involves the research on new technologies which help
gla - 23 to increase productivity, v
!0: § 3 g gﬁ * Research on new Production techniques may result in higher
n|g R 3 c3 output which will stimulate economic growth, v'v
§ é 5'3 g gz * Introduction of new technologies may improve productive efficiency
HE :!; which may lead to lower prices in the economy, v'v
%" 2 E E E-n ¢ New way of doing business such as internet sales may be more
Bl - g convenient and cost effective to consumers and producers. v'v
g = = * Artificial intelligence may help to solve complex problems in the
W %0 economy. v'v’
" * The development of new technologies may create new jobs such
data analysts. v'v
(Accept any other correct relevant response) (2x2)
4.4 Discuss the necessity of the public sector in the economy

human beings, v'v

The government assumes the role of the ‘protector’ of the environment by
formulating and imposing legislation that will ensure its sustainability, v'v
The government s responsible for Managing the collective Interests of jts
citizens, v'v

Promotes policies that ensure €qual opportunities for ] citizens v'v
(Accept any other correct releva nt response)
(Allocate a maximum of 4 marks for mere listing of facts) (4 x2)

Copyright reserved NP/PPN/TES Please turn over

@

(4)

(8)



Downloaded from Stanmorephysics. corr

Economics/P1 13 DBEMay/June 2024
SC/NSC (Braille) — Marking Guidelines

4.5 How does the South African government use fiscal policy to improve the
standard of living?

The SA governinent uses the fiscal policy to improve the standard of
living in the country by:

* using tax revenue to pay social grants such as old age grant, child support
grant and disability grants to improve the standard of living for the
disadvantaged groups. v'v’

e using progressive income tax system which aims to redistribute income by
levying high tax rates on high income earners and low tax rates on low incme
earners. v'v'

* providing benefits in kind such as free basic health care and education to
ensure that the standard of living for the economically marginalised citizens
improves. v'v/

e addressing economic challenges of unemployment by extending
unemployment grant of R350 to maintain a better standard of living. v'v/

* providing temporary employment and sources of income through the
expanded public works programmes. v v

® paying property subsidies to people earning less than R3500 per month for
them to afford housing. v'v ;

* levying wealth taxes to finance social development expenditure that benefit
the poor more than the rich. v'v'

 implementing redress measures such as BBBEE and affirmative action to
improve the standard of living for the previously disadvantaged groups. v'v’
(Accept any other correct relevant response)

(Allocate a maximum of 2 marks for mere listing of facts) 4x2) (8
[40]

TOTAL SECTIONB: 80
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SECTION ¢ APPROVED MARKING GUIDELINE

PUBLIC EXAMINATION

Answer any ONE of the two questions in this section in the ANSWER BOOK_
QUESTION 5: MACROECONOMICS ; 40 MARKS - 40 MINUTES

* Discuss in detajj the new economic Paradigm in Smoothing-out business
cycles, (26)
* Howcanan increase in economic activity impact on businesses? (10)

INTRODUCTION

* The new economic Paradigm suggests that it js possible to implement measures to

Promote economic growth and reduce unemployment withoyt Provoking inflation. v v’

* The new economic Paradigm is embedded in both demand-side and supply-side
policies. v'v’

(Accept any other relevant introduction) (Max 2)
BODY: MAIN PART

Demand-side policies: v
* Traditional monetary and fiscal policies focus on Mmanipulating aggregate demand to
influence economic activity, v'v’

Monetary policy: v

* When the level of economic activity is low the SARB can use expansionary
measures to stimulate €conomic activities. v'v

e An expansionary monetary policy can be implemented during a recession in order
to stimulate economic activities. v'v’

® Interest rates can be reduced to make borrowing cheaper and encourage spending
by households and businesses. v'v*

* The level of €conomic activity increases as investment will be attracted and more
factors of Production will be employed. v'v’

* Higher levels of production, income and expenditure will be achieved, v'v

Fiscal policy: v

° When the level of economic activity is low the minister of finance can use
€Xpansionary fiscal measures to stimulate growth and reduce unemployment. v'v'

e An expansionary fiscal policy can be implemented during a recession in order to
stimulate economic activities. v'v/

* Anincrease in government expenditure will increase aggregate demand, v'v'

(Allocate marks for the discussion on how monetary and fisca| policies are
used to smooth-oyt business cycles, ie, Expansionary policies to pPromote
eéconomic growth and reduce unemployment at the trough and restrictive
policies to reduce inflation at the peak) -

Copyright reserved NP/PPN/TES Please turn over
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Effects of demand-side and supply-side policies
= (New economic paradigm)
g 4
o
8
a
[
2 _AS:
)
PlpFesmmm e e N
v
P INL
i
I
1
|
1
l: v AD1
E AD
1
0 : $
Q2 Real output
DEFARTMENT OF BASIC :
o g;lff;:“;:f:;m e ALLOCATION OF MARKS:
-+ iy Labelling of axis = 1 mark
74 -T7- 02 Labelling of the curves = 1 mark
Shifting of AD and AS = 2 marks
APPROVED MARKING GUIDELINE Total = 4 marks
PUBLIC EXAMINATION

Inflation; v

* Aggregate demand and supply are in equilibrium at point e, where AD = AS. vv/

* More real output Q2 is produced without any price increases, if aggregate demand
shifts from AD to AD1 while aggregate supply relocates to ASy. v'v’

* Supply is often fixed in the short-term which makes aggregate supply to remain the
same when aggregate demand increases. vv/

* Anincrease in aggregate demand to AD1 while aggregate supply remains the same
will form a new equilibrium point e1. v'v’

* Real output increases from Q to Q1 but the general price level also increases from
P to P1 leading to inflation. v'v*

* The solution is to implement supply-side measures such as skills development to
ensure that supply is more flexible, v'v*

Unemployment: v

¢ Demand-side policies are effective in stimulating economic growth by increasing
aggregate demand during economic recession. v'v’

e Economic growth increases the demand for labour and reduces
unemployment. v'v/

* When unemployment falls inflation starts to rise, as illustrated by the Phillips
curve. v'v’

L]

Copyright reserved NP/PPN/TES Please turn over
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| Phillips curve
Il
il T R L OCATION OF MARKS:
1] Labelling of x-axis = 1 mark
il 10— :
il Labelling of curve = 1 mark
fith Labelling of y-axis = 1 mark
!.‘l. v 8- Labelling on axes = 1 mark
_’ J! .' e Total = 4 marks
|5;|' - ;- L S S C Accept the Phillips curve that does not intersect
il & v the horizontal axis.
i E _ .
|_!
,lla'. | F 4
il £ DEPARTM SAS
o _ St O BAs
| PRIVATE BAc Xiox, PRETORIA 01
0- : — [0 p
:{ ‘i ! 3 B A
2 Unemployment rate (%) APPROVED MARKING GUIDEL)
Pl{g&_’g_ EXAMINATION

ey

* The Phillips curve shows the negative or inverse relationship between
unemployment and inflation. v'v*

* PC shows the initial situation, point A wher the PC curve intersects the horizontal
axis. v'v’

* Point A shows natural rate of unemployment of 14%, which is the level of
employment that causes NO pressure on wages and therefore has no inflationary

At levels of Uunemployment below point A (14%), inflation starts to increase, v'v’
If the economy is stimulated so that the unemployment rate falls to 10% at point B,

* Supply-side measures can be used to relocate the Phillips curve leftwards from PC
to PCy. viv

* Supply-side measures include improved education, effective training and fewer
restrictions on immigration of skilled workers. v'v*

* Natural unemployment decreases from 14% at point A to 9% at point D, without
Provoking inflation (inflation rate remains at 0%). vv'

* Demand can be stimulated to higher levels, before the increases in employment
have an effect on inflation rate. v'v’

Supply-side policies: v
& ¢ A demand-side approach does not render desirable outcome because growth has
,' to be cut due to problems in inflation. v'v/
|' * Aggregate supply needs to be managed to achieve greater output by focusing on
.I increased flexibility of supply components. v'v*

,J * The governments can Support suppliers in a way that will allow them to respond to
changes in demand. v'v’

* Reduction of costs allows greater output to be supplied at any given price level,v'v'

; Copyright reserved NP/PPN/TES Flease turn over
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Government measures to reduce cost of doing business v
* Reduce the cost of infrastructural services such as communication
energy costs. v'v’

* Reduce administrative costs such as inspections and regulations that add to overall
costs. vv'

e Cash incentives such as subsidies can be used to lower the production cost. v'v'

Compensation to exporters can be used to encourage increased production aimed
at foreign markets. v'v’

Measures to improve efficiency of inputs v

 Lower rates of personal income tax can be used as incentives for high productivity
and increase aggregate supply. v'v/

* Replacing capital goods on a regular basis will create opportunities for businesses
to keep up with tech nological development. v'v’

e Human resources development where the quality of labour can be improved by
improving health care, education and training which will increase the efficiency of
businesses. v'v’

» Free advisory services to promote opportunities to export and establish business
activities in foreign countries which includes weather forecasts, veterinary services
and research. v'v’

Measures to improve efficiency of markets v

e Deregulation where laws and-regulations are removed to improve the flexibility of
markets, v'v’

* Competition is encouraged by promoting the establishment of new businesses,
inviting foreign direct investments and removing power imbalances. v'v’

* Levelling the playing fields, through privatisation, to allow private businesses to
compete with public enterprises, v'v'
(Accept any other correct relevant response) (Max 26)
(Allocate a maximum of 8 marks for mere listing of facts / examples)

ADDITIONAL PART

An increase in economic activity may impact on businesses as follows:

¢ Demand for goods and services produced by businesses increases as households
receive more income from more employment opportunities. v'v’

 Businesses may incur higher labour cost by employing more workers to produce
more goods and services. v'v'

e Manufacturers may need to use more technologically advanced production
techniques to increase productivity. v'v/

e Businesses’ profits will increase due to higher sales of goods and services. v'v*
Exporters may generate more foreign exchange from selling more goods and
services to export markets, v'v’

* Businesses may import production inputs at lower cost as the rand appreciates
during economic upswing. v'v

* Retail businesses may need to increase their inventory levels as more consumer
goods and services will be purchased. v'v

* New businesses are established as potential investors become optimistic with the
economy. v'v’ .

(Accept any other correct higher order, relevant response) (Max 10)
(Allocate a maximum of 2 marks for mere listing of facts / examples)

Copyright reserved NP/PPN/TES Blnnan b = oee
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CONCLUSION

The government should ensure
policies which helps to achieve economic growth while ensurin

(Accept any other correct higher
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that demand-side policies are supported by supply-side
g price stability. v'v

(Max2)  [40]
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QUESTION 6: ECONOMIC PURSUITS 40 MARKS — 40 MINUTES
e Discuss in detail the various economic indicators. (26 marks)
*» How can social indicators assist the government in improving decision-
making? (10 marks)
INTRODUCTION '

Economic indicators are statistical data used to establish the performance of an
economy in terms of the economic objectives of growth, price stability, exchange rate
stability and employment. v'v* '

(Accept any other correct relevant introd uction) (Max 2)

BODY: MAIN PART

1) Inflation indicators v/
* SARB aims to keep the inflation rate stable between 3 and 6% (inflation target).v'v'
¢ Price increases occur either because of scarcity of goods and services or changes
in consumer preferences. ¥«
* There are twe key inflation indicators:
a) Producer price index (PPI): v
» PPlis used to mieasure changes in the prices of goods produced locally when
they leave the factory floor and imported goods when they enter the country.v'v'
¢ The indicator consists of a basket of local, exported and imported goods. v'v/
The index measures the cost of production and it serves as an indicator to predict
consumer inflation (CPI). vv
b) Consumer price index (CPI); v
e CPl is the weighted average of the prices of a general basket of goods and
services likely to be bought by consumers. v'v*
e Weights are obtained from the expenditure of households and show changes in
the purchasing power of the rand. v'v'
CPI is the official index used in inflation targeting. vv/
e The index measures the cost of living and it is used by labour unions to negotiate
for wage increases. v'v’

2) Foreign trade indicators v/
* In an increasingly globalised world, international trade is most important, v'v'
* Exports stimulate employment and imports widen the choice of consumers. v'v'
e There are two key foreign trade indicators:
a) Terms of trade: v
e Terms of trade (ToT) is the ratio of export price index to import price index. v'v’
e Adeterioration in the terms of trade is caused by an increase in import prices and
a decrease in export prices. v'v’
* A greater volume of exports may need fo be produced to maintain export
earnings, if the terms of trade decline. v'v/
e An improvement in the terms of trade is caused by a decrease in import prices
and an increase in export prices. v'v’
e The economy will spend less for the same amount of imports if the terms of trade
increase, v'v/
e Changes in the terms of frade serve as an indicator of changes that may cause

spill over effects into the Balance of Payments and_ eelnency. may.
appreciate or depreciate. v'v/ : A N O |
4

|
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b) Exchange rate: v

» Exchange rate refers to the value of a country’s currency in terms of another
currency. vv’

* Exchange rates between countries differ, in other words, while the rand may
depreciate against the US dollar, it may appreciate against the Chinese
yuan. v'v'
Changes in an exchange rate affect the prices for imports and export earnings.v'v’

e Depreciation of the rand against the dollar will result in US goods and services
becoming more expensive in South Africa, v'v

* Appreciation of the rand against the US dollar will make South African exports to
the US more expensive thereby reducing demand. v'v'

3) Employment indicators v/ '

a) The economically active population (EAP)/Labour force: v/

* Economically Active Population refers to the labour force between 15 — 65 years
of age. v'v

e EAP includes workers in the formal sector, informal sector, employers, self-
employed persons and unemployed persons. v'v° :

b) Employment rate: v/

e Employment rate is the number of em ployed persons expressed as a percentage
of the economically active population (EAP). vV

» The South African employment rate was approximately 67.4% in 2023. vv'

High level of employment is an indicator of a strong economy with high levels of
growth and development. v'v/

e Employment indicators are used to calculate the trends in different economic
sectors or industries, productivity and success of the economy in utilising its full
potential. v'v

¢) Unemployment rate: v*

e Unemployment rate is the number of unemployed people (who are actively
looking for work) expressed as a percentage of the economically active
population. v'v’

e Statistics South Africa obtains labour data from the Quarterly Labour Force
Surveys to calculate unemployment. v'v'

* In South Africa the official unemployment rate was approximately 32,6% in 2023
and is the major cause of poverty. v'v'

4) Productivity indicators
* Labour productivity is watched very closely, particularly in relation to real wage
increases. v'v’
a) Labour productivity: v'—
e Labour productivity is measured by dividing the real GDP by the number of
workers employed. v'v
¢ In South Africa labour productivity increases at a lower rate than the increase in
labour remuneration v'v’
b) Remuneration per worker: v
* When productivity increases are lower than the real wage increases, inflationary
pressures will occur. v'v"
e The relationship between productivity and wages is crucial for employers and
workers and they are therefore important indicators. v'v/ '
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5) Interest rates v

6)

Interest rate is the cost of borrowing money as well as returns of capital invested.v'v’
Repo rate is the main factor used to measure interest rates. v'v/

Repo rate is the rate at which the South African Reserve Bank (SARB) lends money
to commercial banks. v'v* ‘

An increase in interest rates means that households and businesses wiil pay higher
repayment instalments on their debts. v'v/

Higher interest rates signal a downturn in business cycles and some workers may
lose their jobs and incomes fall, v'v’

Money supply v

In South Africa the supply of money is controlled by the SARB. v'v/

Money supply is classified into the following three categories.

a) M1: v it consists of bank notes and coins in circulation and demand deposits of
the domestic private sector at banks. v'v'

b) M2: v it consists of M1 plus other short term and medium-term deposits of the
domestic private sector at banks. v'v’

¢) M3: v it consists of M2 plus long-term deposits of the domestic private sector at
banks. v'v’

(Accept any other correct relevant responses)

(Allocate a max of 8 marks for headings!subheadingslexamples) (Max 26)

(Allocate a maximum of 12 marks for the discussion of business cycles

indicators, ie. leading, coincident, lagging and composite indicators)

ADDITIONAL PART

Social indicators can assist the government in improving decision-making as
follows:

Copyright reserved NP/PPN/TES

» The government uses demographic information to plan for the future and achieve

certain outcomes such as welfare services for the old age, v'v’

* Population growth allows the government to identify the size of the tax base and
determine the amount of social services they will be able to deliver. v'v'

e The size of a country’s population helps the government to plan for its
infrastructure projects and social programmes. v'v

e Urbanisation indicators help the government to indicate the availability of the
labour force and plan on the availability of land for human settlement and
economic purposes, v'v' l

¢ Malnutrition and obesity indicators help the government to decide on how much
to invest in the national health system and feeding schemes. v'v° '

* Housing indicators help the government to determine the housing needs of
citizens and know how much it needs to invest in housing projects in order to
improve the standard of living. v'v’

e Education indicators allow the government to determine the future supply of
skilled labour and implement suitable measures to improve the quality of
education. v'v’

 Indicators measuring access to basic services such as electricity, water and
sanitation help the government to evaluate its performance in service delivery and
identify areas of improvement, v'v'
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 Health indicators help the government to investigate health-related issues and
formulate strategies to improve the overall health status of the country. v'v'
(Accept any other correct relevant response) (Max. 10)
(Allocate a maximum of 2 marks for mere listing of facts / examples)

CONCLUSION
Policy makers should monitor the trends followed by economic indicators to ensure that

they implement suitable policies to improve the performance of the economy. v'v*
(Accept any other relevant higher order conclusion) (Max. 2) [40]

TOTAL SECTIONC: 40
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